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ECONOMICS HSSC-I
SECTION — A (Marks 20)

Time allowed: 25 Minutes

NOTE: Section—-A is compuisory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use iead pencii.

Q.1  Circle the correct option i.e. A/ B/ C / D. Each part carrles one mark.
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For Examiner's use only:

Who is called “Father of Economics™?

A Adam Smith  B. Alfred Marshall C. Malthus D. Lionel Robbins
The basic problem of economics is:

A Corruption of government officers B. Inefficiency of workers

C. Selfishness of people D. Scarcity of resources

Which one is non-economic activity?

A Pleading of lawyer B. Exercise for health

C. Teaching of teacher D. Sewing cloth by tailor

When MU is zero then TU will be:

A Increasing B. Decreasing C. Maximum D. Minimum

Who introduced the concept of indifference Curves to explain consumer’'s behaviour?

A Adam Smith B. J.R. Hicks C. Alfred Marshall D. Lionel Robbins
Assumptions of a law are called: ‘

A Constants B. Variables

C. independent variables D. Parameters

Decrease in demand due to rise in price is called:

A Contraction B. Extension C. Fall D. Rise

If 5% decrease in price results in 10% increase in quantity demanded then the elasticity of demand
will be:

A Equal to unity B. Less than unity ¥
C. Greater than unity All of these

- Which of the following descnbe(s) the Law of SUpply? ,
A Supply curve B. Supply schedule A -
C. Supply eguation D. All of these g /
What is the elasticity of supply at point A in the given diagram? > &1 2
A Equal to unity B. Greater than unity
C. Less than unity D. Equal to zero a X
Equilibrium price of a commedity is determined by: Qs
A The government B. An agriculturist ' )
C. An industrialist D. Demand and supply
When both demand and supply fall proportionately, price of the commodity will be:
A Rising B. Falling C. Same D. None of these
Which one is the oldest and basic factor of production?
A Land B. Labour C. Capital D. Organization

If a lecturer is promoted to assistant professor and transferred from Lahore to Multan then what type
of mobility will take place?

A Horizontal B. Vertical

C. Horizontal and geographical D. Vertical and geographical

Law of Diminishing Retum is mostly applicable on:

A. Agriculture B. Industry C. Communication D. International trade
Which cost curve intersects the other cost curve at its minimum level?

A AC to MC B. FCtoTC C. MC to AC D. AVC to ATC

When TR is maximum then what will be MR?

A Negative B. Zero C. Minimum D. Maximum

According to the given diagram, what type of profit / loss is faced by the firm? ——

A Normal profit B. Super — normal profit - -+ \I/ e

C. Sub-normal profit / loss D. Shut down position / At
Who introduced the concept of Quasi rent? 3 EZ__.-mu&
A Hicks B. Hobson 3’

C. Robbins D. Marshall .
If the rate of inflation goes up, the real wages of labour will: n
A Increase B. Decrease ol—" _ﬁ%'_——‘ .
C Remain the same D. None of these

Total Marks: 20

Marks Obtained: :l
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Time allowed: 2:35 Hours

ECONOMICS HSSC-I

Total Marks Sections B and C: 80

NOTE:

Answer any fifteen parts from Section ‘B (a)’ one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.o.
Sheet-B if required. Write your answers neatly and legibly.

Note:
Q.3
Q.4
Q.5
Q.6
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(xviii)
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(xxi)

(i)
(ii)

SECTION - B (Marks 50)

Attempt any FIFTEEN parts. The answer to each part should not exceed 3 to 5 Iim:s. )
15x3=45

Write Alfred Marshall’s definition of economics.
What is the deductive method of derivation of economic laws?
Define Micro economics.
What is meant by Wealth?
Show the relationship between TU and MU.
Write the conditions of consumer’s equilibrium.
Describe the meaning of demand in ecornomics.
Why does demand curve siope downwards?
Differentiate between supply and stock.
Define point elasticity of demand and write its formula.
Define very short period or market period.
Differentiate between continuous and discontinuous variables.
Soive the following equations to find equilibrium price and quantity
when Qd=Qs
Qd=12-2P & Qs=3+P
Define Labour with the help of examples.
Write any three kinds of mobility of labour.
Define monopoly.
Describe three relations of average cost and marginal cost.
Write the conditions for perfect competition.
Which factors determine real wages?
What is meant by Quasi rent?
Define Marginal revenue and give an example.

Attempt any ONE part. (1x5=85)

Differentiate between extension and rise of demand.
Show the determination of Market price of perishable goods with the help of a schedule and diagram.

SECTION - C (Marks 30)

~

Attempt any THREE questions. All question carry equal marks. (3x10=30)

Explain the “Law of Diminishing Marginal Utility” with the help of schedule and diagram.

Define Labour and discuss its characteristics.

Explain the “Law of Demand” with the help of a schedule and diagram.

Discuss Marginal Productivity theory of Distribution.

—— 1HA 1514 —
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(15 x 3 = 45)

(1x5=5)

(3 x 10 = 30)
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